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Softwarel

Recitation No. 3
(Classes, Objects & Method Calls)

Oranit Dror

The Customer Class

public class Customer {
public Customer(String name, String id) {
this.name = name;
this.id = id;
}

public String getName() {
return name;

}

public String getID() {
return id;

}

private String name;

private String id;
Oranit Dror 4

Class Diagram

BankAccount

public BankAccount(Customer customer, long id)

public void withdraw(double amount)

public void deposit(double amount)

public void transferTo(double amount, BankAccount otherAccount)
public double getBalance()

public Customer getOwner ()

public double getNumber()
has-a
Customer
public Customer(String name, String id) Bank
public String getName() main
public String getID()

Object Diagram

Customer:
String name: *—
String id: e——

025285244"

Bank

main (...) {
customerl: o—
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Toy Bank Program

public class Bank {
public static void main(String[] args) {
C 1= new C ("Avi Cohen", "025285244");
C 2 =new C ""Rita Stein", ""024847638");

BankAccount accountl = new BankAccount(customerl, 1234);
BankAccount account2 = new BankAccount(customer2, 5678);
BankAccount account3 = new BankAccount(customer2, 2984);
accountl.deposit(1000);

account2.deposit(500);

accountl.transferTo(100, account3);

account2.withdraw(300);

System.out.println("accountl has " + accountl.getBalance());

System.out.println("account2 has " + account2.getBalance());
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Object Diagram

Customer: -
String name: *—
String id: e—— AvilGohen
String:
"025285244"

Bank
2t (o) {1_ o Customer:
customerts String name: =——
customer2; ¢———* -
String id: e——
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"024847638"

Toy Bank Program

public class Bank {
public static void main(String[] args) {
C 1=rnew C ("Avi Cohen", "'025285244");
C 2 = new C ("Rita Stein", ""024847638");

BankAccount accountl = new BankAccount(customerl, 1234);
BankAccount account2 = new BankAccount(customer2, 5678);

BankAccount account3 = new BankAccount(customer2, 2984);

accountl.deposit(1000);
account2.deposit(500);
accountl.transferTo(100, account3);

account2.withdraw(300);

System.out.println("accountl has " + accountl.getBalance());

System.out.println("account2 has " + account2.getBalance());

Object Diagram

BankAccount:

owner:
balance: 0
number: 1234

BankAccount:

S

String id: e——

String:
"025285244"
Bank
maini(C ) Customer:

customerl: ®—

customer2: ®———*

String name:*——

owner:
balance: 0
number: 5678

String id: e——

——e account1:

account2:
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"024847638"

}
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Toy Bank Program
public class Bank {
public static void main(String][] args) {
C 1= new Ci ""Avi Cohen", "025285244");
C 2 =new C (""Rita Stein"', "024847638");

—+  BankAccount accountl = new BankAccount(customerl, 1234);

BankA 2 = new BankA 2, 5678);

BankAccount account3 = new BankAccount(customer2, 2984);

accountl.deposit(1000);
account2.deposit(500);
accountl.transferTo(100, account3);
account2.withdraw(300);

System.out.println("accountl has " + accountl.getBalance());

System.out.println("" 2 has " + account2.getBal ))s
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Object Diagram

o
BankAccount:

owner:
balance: 0

number: 1234

—
BankAccount:

String name: *—
String id: AvilGohen

owner:
balance: 0

number: 2984

e A
BankAccount:
owner:

balance: 0
number: 5678

String:
"025285244"

Customer:
String name: *——>
String id: e——

Bank

main (...) {
customerl: o—
customer2: >

e accountl:

account2:

account3:

i It oror String: 12
"024847638"

Toy Bank Program

public class Bank {
public static void main(String[] args) {
C 1= new C ("Avi Cohen", "'025285244");

Customer customer2 = new Customer("Rita Stein", ""024847638");

BankAccount accountl = new BankAccount(customerl, 1234);

BankAccount account2 = new BankAccount(customer2, 5678);

——— BankAccount account3 = new BankAccount(customerl, 2984);

accountl.deposit(1000);
account2.deposit(500);
accountl.transferTo(100, account3);
account2.withdraw(300);

System.out.println("accountl has " + accountl.getBalance());

System.out.println("account2 has " + account2.getBalance());
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Message Sequence Chart

Message Sequence Chart

public class Bank {

public static void main(String[] args) {

Ci 1=rnew C
Ci 2 =new C

("Avi Cohen", "'025285244");
("Rita Stein", ""024847638");

BankAccount accountl = new BankAccount(customerl, 1234);

BankAccount account2 = new BankAccount(customer2, 5678);

BankAccount account3 = new BankAccount(customer2, 2984);
—— accountl.deposit(1000);

account2.deposit(500);

accountl.transferTo(100, account3);

ks main accountl account2 account3
owner: owner: owner:
balance: 0 balance: 0 balance: 0
number: 1234 number: 5678 number: 2984
ol deposit
77nnma thisinm
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public class Bank {
public static void main(String[] args) {
C 1=new C ""Avi Cohen", "025285244");
C 2 = new Ci (""Rita Stein", "024847638");
BankAccount accountl = new BankAccount(customerl, 1234);
BankAccount account2 = new BankAccount(customer2, 5678);
BankAccount account3 = new BankAccount(customer2, 2984);
accountl.deposit(1000);
—> account2.deposit(500);
accountl.transferTo(100, account3);
account2.withdraw(300);
System.out.printin("accountl has " + accountl.getBalance());
System.out.println(" 2 has "' + account2.getBal ));
}
} Oranit Dror 16
public class Bank {
public static void main(String[] args) {
C 1= new C (""Avi Cohen", "025285244");
C 2 = new Ci (""Rita Stein", "'024847638");
BankAccount accountl = new BankAccount(customerl, 1234);
BankAccount account2 = new BankAccount(customer2, 5678);
BankAccount account3 = new BankAccount(customer2, 2984);
accountl.deposit(1000);
account2.deposit(500);
—— accountl.transferTo(100, account3);

account2.withdraw(300);

System.out.printin("accountl has " + accountl.getBalance());

System.out.printin("account2 has " + account2.getBalance());
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account2.withdraw(300);
System.out.println("accountl has " + accountl.getBalance());
System.out.println("account2 has " + account2.getBalance());
}
} Oranit Dror 13
e main accountl account2 account3
owner: owner: owner:
balance: 1000 balance: 0 balance: 0
number: 1234 number: 5678 number: 2984
1000 deposit
void
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-
e main accountl account2 account3
owner: owner: owner:
balance: 1000 balance: 500 balance: 0
number: 1234 number: 5678 number: 2984
F&é] depost
vod 500 = deposit
void =
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Message Sequence Chart

Message Sequence Chart

ks main accountl account2 account3
owner: owner: owner:
balance: 900 balance: 500 balance: 100
number: 1234 number: 5678 number: 2984
1000 deposit
void
500 deposit
I I
void [
T 100, account3 transferTo
100 [, deposit
=
] void -
void
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-
e main accountl account2 account3
owner: owner: owner:
balance: 900 balance: 200 balance: 100
number: 1234 number: 5678 number: 2984
. 1000 deposit
— i
void
500 deposit
I
void [
[ 100, account3 —— transferTo
100 [ deposit
H
o void =
void [
300 [ ] withdraw
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b main accountl account2 account3
owner: owner: owner:
balance: 1000 balance: 500 balance: 0
number: 1234 number: 5678 number: 2984
1000 deposit
void deposit
| 500 r Pos
void [
= 100, account3 transferTo
pa
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-
public class Bank {
public static void main(String[] args) {
C 1= new C "Avi Cohen", "025285244");
C 2 =new C ""Rita Stein", ""024847638");
BankAccount accountl = new BankAccount(customerl, 1234);
BankA 2 = new BankAccount( 2, 5678);
BankAccount account3 = new BankAccount(customer2, 2984);
accountl.deposit(1000);
account2.deposit(500);
accountl.transferTo(100, account3);
account2.withdraw(300);
System.out.println("accountl has " + accountl.getBalance());
System.out.println("" 2 has " + account2.getBal 0);
}
} Oranit Dror 21
public class Bank {
public static void main(String[] args) {
Ci 1= new C (""Avi Cohen", "025285244");
Customer customer2 = new Customer("Rita Stein", ""024847638");
BankAccount accountl = new BankAccount(customerl, 1234);
BankAccount account2 = new BankAccount(customer2, 5678);
BankAccount account3 = new BankAccount(customer2, 2984);
accountl.deposit(1000); tout 1 T G0
. output: accountl has .
account2.deposit(500); account2 has 200.0
accountl.transferTo(100, account3);

account2.withdraw(300);

System.out.println("accountl has " + accountl.getBalance());

System.out.printin("account2 has " + account2.getBalance());
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